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For it does not have the required amount — RMYSW 72 YT

OVERVIEW

The ®n>12 included salt as one of the items which are 1912 vynn. The X3 asked,
but salt is harmful to the wall (window sill) so he will remove it. The X723
answered that the salt was resting on a potsherd. The X723 asked, so the X507 can
be yx17 (without the salt). The X723 answered that it did not have the proper My*w.
In our text the X713 continues 17°aM> 2°%5 12 10°2 >70 071 13n72.1 Our MO offers an
alternate X073,

= AV NN LYNY NADNY NIV PNT 2YH1929
The explanation of X1y*w 72 n°57 is that there is not sufficient X527 to make

the opening less than a square now -
= 17592 1IN KIN HAY SNYIWY T 13¥ 11T 33079 13509) XYY

And so therefore the text does not read 'Jan7>', for what connection is there
between the issue here (regarding 7x°¥r) to the measurements for naw °21r,

rather the X072 is 'Jan72Y' with a 'Y''»Y' (before 11n72) -
= VYNN NYMI INNPNI W9 291

And this is the explanation of (the flow in) the X713; but why is salt wynan -
= 59550 NN PP XOY 275 NHNN 0N 9907 1T THIVNWI NODN DPPY 5 NN

Since when he will need the X217 and remove it, he will also remove the salt so

it should not harm the wall -
= 99%nY DN 12 m’b 19 1% 5’97 ) Y9997 MY 6])3'\‘191 I NN

! That mawn is discussing the MW required to be 21 for carrying out a Xd0r on NaW to (from) a 7"77. In those days
when they wanted to open a window in a wall, they made the window frame by placing vertically two parallel
boards at a specific distance from each other and then fill the space between them (on top and on bottom) with a
Xoon. The size of this X901 is the minimum size required to be 21 for carrying a X50r on Naw. Anything smaller is
insignificant for a Xoor.
2 By saying "W’ our M0 is negating the explanation (of N°27 77"72 >"wA) that XYW 72 1°2 means that the Xoon
per se is too small and so cannot be considered a nx°xn. This is not true, for the size of the yX77 727 is irrelevant;
what is important is that it is large enough that when it is placed in the window, the part remaining open is less than
a mdvu nnd.
3 If the explanation of XRMy*w 2 n°77 would be like the explanation N90In rejected (in footnote # 2), then the X077
of 11n72' would be correct; we are saying that just like for naw there is a AR¥I7 2102 NYWw, that same Y°w applies to
XML *192 7¥en. However n1901n rejected this w110, for there is no connection between nR¥1T? 1w and the Myw
of ¥°xn, therefore the term 71n71 is inappropriate for it suggests that the two cases (2w and 7¥°¥17) have the same
7w (when in fact there is no real My°w for the X7 727 per se).
4 mpon is explaining why we cite the m1wn regarding a X901 on N2W, since it has no intrinsic connection to our case.
5 This is an implicit question which we are to ask on our own. The 130721 is answering this implicit question.
® The 130721 does not explain the meaning of XMW 7°2 n°7 (which is as NN explained it), rather the X713 cited the
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And in order to answer this implicit question, the X7 cites this 7iwn saying
310721, meaning, that our case in the Xn™M21 is also discussing a case where the

X90m is not large enough to place between one post and the other -
- 7159 H5HY N9 DIV NS PN

So since this Xo0n is not fit for anything, therefore he will not remove it -

mooin offers an alternate X073 thereby justifying the Xo7°3 of 1an72":
= NOUN DIVN N7 PIDdH 122093 RIN YINH 191 XODN Y09 NIT 0990 NIN)

And there are some text, which do not read 'yInon 9933 Xpon', rather they

read, 'NpOR7 2N Y0 PN -
— ENODN DIV NHNN POIY 1YY PIDYM Ya

This means that you can know that he will remove the salt when he removes

the XB®M, so how can the salt be vymn if eventually it will be removed when he needs the x20m -
£ 9OPY XYY 915 19NT5 NNWYW NA NHYDT 2IWN)

And on this explicit question the X723 answered that it doesn’t have the
sufficient size, as we learnt, etc. and therefore he will not remove it.

SUMMARY
The X007 is not vynY, since it is so small that (without the n%1) the opening will
still be more than a rdv M.

THINKING IT OVER

Is it more logical that the X712 asks that the X201 should be yX¥17 (as our X073 has
it), or that the X173 asks, how can the 177 on the X5on1 be vvan, since he will remove
the X001 (the X073 of the 190 N°X); which is the more obvious question?

11727 to answer the implicit question that he will remove the xoom (and the 171) so how can it be vynn?!
71175 means we are proving something, which makes sense according to the rejected " (in footnote # 2) that we are
trying to prove the 7w of a Xpon. However 110721 means that the fact in this case is similar to the facts in the other
case, but we’re not trying to prove anything.
8 According to this X073 the X3 is explicitly asking the implicit question we mentioned before (in footnote # 5),
however the X3 never asked (according to this X07°3) that YN 77913 Xo0M.
° Anything smaller than o°¥9% 0°¥5 132 is never used, so he has no need for it. The 7awn is a direct answer to a direct
question; therefore it can state 11072 (without a preceding 1"™).
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